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2018
( 2nd Semester )
Time : 2-;- hours
Full Marks : 60
Answer all questions
The figures in the right-hand margin indicate marks
Candidates are required to answer in their own words
as far as practicable
(ORGANIC CHEMISTRY-1)
- SECTION-—-A
1. Answer all questions : ' 2x6
(a) Between acetic acid and formic acid which
one is stronger and why 7 ”

(b) Explain homolytic and heterolytic bond-
 Bssion,. -

(c) Discuss preparation of alkane by Wurtz
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Total Pages—7 ' SG CHE (02)

2018
(2nd Semester)

Time : 2 hours

Full Mark.f 60

Answer all questions from any one Gmup
as per your specialisation

The figures in the right-hand margin indicate marks
Candidates are required to answer in their own words
as far as practicable

GROUP-I

(CHEMICAL ENERGETICS, EQUILIBRIA
AND FUNCTIONAL ORGANIC CHEMISTRY-I)

SECTION— A _
1. Answerall questions : o 2%6
(a) State Third law of thermodynamics. .

{ Turn Over )
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FBS-IIS CHEM (CORE-3)

2017
ORGANIC CHEMISTRY-I

Time : 2% Hours] [Full Marks : 60

Answer all questions. The figures in the right-hand
margin indicate marks.

SECTION-A

1. Answer the following questions : 2x6
(a) Explain, Phenol is acidic.

(b) AcompoundC 4H O shows optical activity.
Identify the compound and write the possible
sterco1SOMmers.

(¢) Discuss the structure of carbene.

(d) What are +1 and —1 effects ? Illustrate with
examples.

(e) Differentiate hetween Enantiomers and
Diastercoisomers.

(/) Between n-butane and isobutane which one
boils at a lower temperature ? Justify your
answer.

BAM 23 (3) (Turn Over)
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FBS-IIS CHEM (CORE-4)

2017
PHYSICAL CHEMISTRY.IT

Time : 2% Hours] [(Full Marks - &0

Answer from both the Sections as directed. The figures
in the right-hand margin indicate marks.

SECTION-A
1.  Answer the following questions : 2x6

(@) What are extensive and intensive property
of a system? Give ope example of each.

(6) Derive the relationship between K, and K,
for the reaction

N0y = ZNOy

(c) Find out work done during 1sothermal
reversible expansion of 2 moles of idea]
gas from volume 10 litres to 1000 litres at
27°C,

(@) What do you mean by state of 5 system and
state variables ? .

(e) Explain, 1 molal solution of NaCl boils at
a higher temperature than | molal solution

of sugar.

BAM_57(3) (Turn Over)
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FBS-IIS CHEM (GE-2)

2017

Time : 23 Hours] [Full Marks : 60

Answer all questions from any ene Group as per your
specialization. The figures in the right-hand margin
indicate marks.

GROUP-A

Chemical Energetics, Equilibria and
Functional Organic Chemistry-i

SECTION-A
1. Answer all questions: 2%6

(a) Differentiate between bond energy and bond
dissociation energy.

(b) Define pH of a solution. Calculate the pH
of 107* M NaOH solution.

(c) What is Buffer Solution? How many types
of buffer solutions are there? Give one
example for each.

(¢) What is Sandmeyer’s reaction?

(e) What happens when toluene undergoes
oxidation with alkaline KMnO, solution?

(f) Prepare ethyl alcohol from methyl
magnesium bromide.

SECTION-B
Answer all questions:

2. (a) (i) Thermodynamically derive the law of
chemical equilibrium. 6

BAM 90 (4) (Turn Over)
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4.

(4)

() What is the function of sodium and
potassium ? Why js it important to haye
correct percentage of these ions in human
body ?

(@) Discuss evidences in support of keto and
enol structure of acetoacetic ester. Discuss

- synthesis of ope heterocyclic compound

12

from ethy] acetoacetate. 5+5+2

OR
(6) Discuss Preparation of pyrrole by any two
methods. Discuss nitration and Friede].
Crafis reaction of pyrrole. Explain, pyrrole is
more reactive than benzene to electrophilic

attack. 2x2+2x2+4

(@) Explain Chmmc:-phnre, Auxochrome,
Red shiit and Blye shift with examples,
Arrange anthracene, ethylene, naphthalene
and butadiene in increasing order of uv
absorption maxima and Justify your answer.

2x444

OR
(6) (i) Discuss the various factors influencing
vibrational frequency.

() Two isomers 4 and B having molecular
formula C3HO exhibit the following
peaks in IR — e 1710em™1, B.
3300em™  and 1640 -1 Write
the structure of 4 and B on this
basis. ;

8+4
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